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Marked by GC

Question 1 (12 Marks)
A. Write an equivalent equationto y = a’ usiﬁg logarithmic notation. 1
B. Evaluate log, 8 1
2
C. Solve 8**** =11, giving your answer correct to 2 decimal places 2
£
D. Differentiate: 3
i y _ er+1
3x
1i. y=
x
o . d’y . dy
If y =™, find & such that +5=+ky=0 3
K y PR
'F Find the volume of the solid formed when the curve y =e** +3 is rotated
about the x —axis from x =1 to x =3 (Answer correct to one decimal place)
3
Question 2 (12 Marks) Marked by CAB
A, Find [T —dx 2
x"+5
. dy . 2x +1 .
B. Find =L given that y =]o ' 2
o y=log, (3x — )
C. Find the equation of the normal to the curve y = xlog, xat the point (e, e) 3
D. Solve for x the equation log;(6) =log,(x +3)+log,(x—4). 2
E. The diagram shows part of the hyperbola y = I—Z—— and the line y'= 7 —x. 3
x

The hyperbola and line inters t at the points (0, 7) and (6, I).
Calculate the exact area of tife shaded region.




Question 3 (12 Marks) Marked by BMM

A. The length of the arc 4B of the sector O4B is 2z cm.

B
NOT TO
SCALE
60°
0 A
i. Convert 60° to radians, simplify your answer leaving it in terms of . 1
ii. Show the length of O4 is 6 cm. 2
iii. Calculate the exact area of the sector O4B. 1
B. In the diagram the length of the chord PQ is 30 cm.

The radius of the circle is 70 cm.

i. Show'that £ POQ = 25° to the nearest degree. 2
ii. Convert 25° to radians correct to 4 decimal places. 1
jii. Find the shaded area correct to the nearest cm’, 1
C. The diagram shows a sector of a circle with radius » cm. The angle at the centre is &

radians and the perimeter of the sector is § cm.

r

i. Find an expression for » in terms of 6.

ii. Show that 4, the area of the sector in cm?, is given by 4 =‘(—9§3§—;2— .
- : +




